
ZiRgv b~iæj Av‡bvqvi gyLZvmvi gvKvgvZ  †gvU  Mo

50 50 50 50 200 50

3 gynv¤§` Ryev‡qi 50 48 48 45 191 47.75 gygZvh 1

4 hyev‡qi Avngv` 50 46 45 46 187 46.75 gygZvh 2

9 gvmb~b 48 50 40 46 184 46 gygZvh 3

10 †gvt gyRvwn`yj Bmjvg 50 46 40 42 178 44.5 gygZvh 4

1  ˆmq` Avkivdzj û`v bvwRe 43 40 40 42 165 41.25 gygZvh 5

5 †gvt Avãyjøvn 46 38 40 39 163 40.75 gygZvh 6

11  †gvt hyev‡qi †nv‡mb 45 29 47 32 153 38.25 Rv. wR. 7

15  †gvt Avãym mvgv` 47 32 32 34 145 36.25 Rv. wR. 8

14  †gvt wgbnvR 41 28 34 41 144 36 Rv. wR. 9

20 Avãyjøvn Avj Rvwii 45 26 33 37 141 35.25 Rv. wR. 10

2 gykwdKzi ingvb 33 29 26 41 129 32.25 Rv. wR. 11

8 †gvt ZwiKzj Bmjvg 39 29 21 39 128 32 Rv. wR. 12

12  †gvt ZvbwRj 37 24 33 33 127 31.75 Rvwq¨` 13

7 †gvt gymv Zv‡iK 40 17 30 33 120 30 Rvwq¨` 14

6 †gvt dinv` Avngv` 36 21 27 28 112 28 Rvwq¨` 15

13 Avãyi ingvb 28 30 33 19 110 27.5 Rvwq¨` 16

16 mvweŸi nvmvb mvqgb 31 18 20 18 87 21.75 gKeyj 17

19 Igv‡qi 30 19 9 Aby. 58 19.333 Abycw ’̄Z 0

17  †gvt Zvnwmbyi ingvb Zbq Aby. Aby. Aby. Aby. Aby. Aby. Abycw ’̄Z 0

18 gynv¤§` Avwid Bw¯ÍqvK Aby. Aby. Aby. Aby. Aby. Aby. Abycw ’̄Z 0

 †gvU QvÎ =  20 Rb, gygZvR = 6 Rb, Rvwq¨` wRÏvb = 6 Rb, Rvwq¨` = 4 Rb,  gKeyj = 1 Rb,  ivwme = 0  Rb, Abycw ’̄Z= 3 Rb|

 ivkv` GKv‡Wwg (gva¨wgK I D”P gva¨wgK wefvM)

gvwmK cixÿvi djvdj-   wkÿvel© t 2025- 2026 C.               

 †kÖwY : ki‡n †eKvqv

µ.g Qv‡Îi bvg  †MªW/wefvM  †gavµg


